EXERCISES FOR CHAPTER 16
With Solutions

Exercise 1. Forecasting Using Accounting Relations

The following forecasts were prepared for a firm.

	Year Ahead
	1
	2
	3
	4
	5

	Dividends
	70
	75
	75
	75
	75

	Net debt
	0
	0
	0
	0
	0

	Investment expenditures
	80
	89
	94
	95
	95

	Net operating assets
	635
	665
	689
	703
	713


The common stockholders’ equity at the beginning of year 1 is 596 and there is no net debt.

(a)
Forecast free cash flow generated from operations for each of the five years

(b)
Forecast cash flow operations for each year

(c)
Forecast operating income for each year

(d)
Forecast comprehensive income for each year

Forecasting Using Accounting Relations: Solution

Here is the pro forma for the solution. Question numbers are indicated to the left.

	(a)
	C – I = d
	70
	75
	75
	75
	75

	(b)
	I
	80
	89
	94
	95
	95

	
	C
	150
	164
	169
	170
	170

	
	ΔNOA
	39
	30
	24
	14
	10

	
	C – I
	70
	75
	75
	75
	75

	(c) (d)
	OI = CI
	109
	105
	99
	89
	85


Relations used in solution:

(a)
For a firm with no net debt, C- I = d

(b)
C = C – I + I

(c)
OI = C - I + ΔNOA

(d)
For a firm with no net debt, operating income = comprehensive income

------------------------------------------------------------------------------------------------------------

Exercise 2. Wal-Mart
When Wal-Mart Stores, the retailer, filed its 10-K for year ending January 31, 1999, it reported an after-tax profit margin of 3.65% and an asset turnover of 4.66 on net operating assets of $29.9 billion.  The firm also reported net financial obligations of $8.0 billion.  

In the last few years, Wal-Mart sales have been growing at 12%-16% per year, but analysts expect the rate to be 8% on average in the future.  Analysts also expect profit margins and turnovers to continue at their 1999 level.

(a) Based on analysts’ expectations, value the equity.  Use a cost of capital for operations of 11%.

(b) Wal-Mart’s shares traded at a total market capitalization of $200 billion when it filed its 1999 10-K.  If profit margins and turnovers were to continue at their 1999 level, what sales is the market forecasting for Wal-Mart in 2004 (five years in the future)

Wal-Mart: Solution

a)


RNOA = PM x ATO = 3.65% x 4.66 = 17.0%


Forecast of ReOI for 2000 = (0.17 - 0.11) x 29.9 = 1.794 billion
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= $89.7 billion
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[As RNOA is forecasted to be constant and ATO is constant, growth rate in ReOI (g) is equal to growth rate in sales]

b)
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g = 1.10    (a 10% growth rate)


[Again, sales growth rate is ReOI growth rate in this case]


Sales2000 = ATO x NOA



= 4.66 x $29.9 billion



= 139.334 billion


Expected Sales2004 = 139.334 x 1.104 = $204.0 billion

-----------------------------------------------------------------------------------------------------------

Exercise 3. Pro Forma Forecasting

The following pro forma was developed at the beginning of 1998 for a firm which has a cost of capital for its operations of 10%.  (Amount in millions of dollars)

	
	1998
	1999
	2000



	Cash flow from operations
	30
	70
	40

	Cash investment expenditures
	45
	55
	90

	Net financial obligations
	150
	150
	240

	Book value of common equity
	140
	170
	190


The book value of equity at the end of 1997 was 130 and the net financial obligations at the same date were 120.

Forecast residual operating income for 1998, 1999 and 2000.

Pro Forma Forecasting: Solution

	
	1997
	1998
	1999
	2000



	Cash from operations
	
	30
	70
	40

	Cash investment
	
	45
	55
	90

	C – I 
	
	(15)
	15
	(50)

	NOA = CSE + NFO
	250
	290
	320
	430

	ΔNOA
	
	40
	30
	110

	OI = C – I + ΔNOA
	
	25
	45
	60

	ReOI 
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Scenario Planning

A firm has the following summary balance sheet (in millions of dollars):

	Net operating assets
	
	  441

	Net financial obligations
	
	    52

	Common shareholders’ equity
	
	  389




The firm is currently earning a return on net operating assets (RNOA) of 14% from sales of $857 million and after-tax operating income of $60 million.  Its required return on operations is 10%.  Forecasts indicate that RNOA is likely to continue at the same level in the future, with growth in sales of 3% per year and growth in net operating assets to support the sales of 3% per year.



Management is considering a plan to introduce new products that are expected to increase the sales growth rate to 4% a year and maintain the current profit margin of 7%.  But the plan will require additional investment in net operating assets that will reduce the firm’s asset turnover to 1.67 of total sales.  



What effect will this plan have on the value of the firm?

Scenario Planning: Solution

Pro forma under the status quo:

	
	0
	1
	2
	3
	

	Sales
	857.0
	882.7
	909.2
	936.5
	(grows at 3%)

	Operating income (PM = 7%)
	60.0
	61.8
	63.6
	65.6
	(grows at 3%)

	
	
	
	
	
	

	Net Operating assets
	441
	454.2
	467.8
	481.9
	(grows at 3%)

	
	
	
	
	
	

	PM
	7%
	7%
	7%
	7%
	

	ATO
	2.0
	2.0
	2.0
	2.0
	

	RNOA
	14%
	14%
	14%
	14%
	

	
	
	
	
	
	

	ReOI
	
	17.64
	18.18
	18.73
	(grows at 3%)


Value of operations under the status quo:
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Pro forma under the plan:

	
	0
	1
	2
	3
	

	Sales
	857.0
	891.3
	926.9
	964.0
	(grows at 4%)

	Operating income (PM = 7%)
	60.0
	62.4
	64.9
	67.5
	(grows at 4%)

	
	
	
	
	
	

	Net Operating assets (ATO = 1.67)
	534.8
	556.1
	578.4
	601.6
	(grows at 4%)

	
	
	
	
	
	

	PM
	7%
	7%
	7%
	7%
	

	ATO
	1.67
	1.67
	1.67
	1.67
	

	RNOA
	11.67%
	11.67%
	11.67%
	11.67%
	

	
	
	
	
	
	

	ReOI
	
	8.93
	9.29
	9.66
	(grows at 4%)


Value operations under the plan:
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The plan (marginally) loses value.  The additional growth (that generates additional profit margin) is not sufficient to cover the required return on the additional investment in net operating assets.

------------------------------------------------------------------------------------------------------------

� EMBED Equation.3  ���
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